
MATH1040/7040 WEEK 4 TUTORIAL QUESTIONS SOLUTIONS

1. |−3z − 4| = 4, so

− 3z − 4 = 4 or − 3z − 4 = −4
− 3z = 4 + 4 − 3z = −4 + 4
− 3z = 8 − 3z = 0
−3z

−3
=

8
−3

z = 0

Hence the solutions are: z = −8
3

and z = 0

2.

y−2y0 ÷ x−1 × x−1y−3x−3 = y−2y0 × x1 × x−1y−3x−3

= x1x−1x−3y−2y0y−3

= x1−1−3y−2+0−3

= x−3y−5

3.

x−1x−3y3 ÷
(
x1x−1

)
× y1 = x−1x−3y3 × x−1x1 × y1

= x−1x−3x−1x1y3y1

= x−1−3−1+1y3+1

= x−4y4

4.

y−1y−1y2x−2 ÷ y−3 × x2 = y−1y−1y2x−2 × y3 × x2

= x−2x2y−1y−1y2y3

= x−2+2y−1−1+2+3

= x0y3

= y3

5.
5y−5y0

y−5y−5
=

5y−5+0

y−5−5
=

5y−5

y−10
= 5y−5−(−10)= 5y5

6.
√

18 = x
√

2. Now
√

18 =
√

9× 2 =
√

3× 3× 2 = 3
√

2. Hence x = 3

7.
√

8
(√

4 +
√

6
)

=
√

8×
√

4 +
√

8×
√

6

=
√

8× 4 +
√

8× 6

=
√

32 +
√

48

= 4
√

2 + 4
√

3

1



8. (√
9 +
√

6
) (√

6 +
√

6
)

=
√

9×
√

6 +
√

9×
√

6 +
√

6×
√

6 +
√

6×
√

6

=
√

9× 6 +
√

9× 6 +
√

6× 6 +
√

6× 6

=
√

54 +
√

54 + 6 + 6

= 3
√

6 + 3
√

6 + 6 + 6

= 6 + 6 + 3
√

6 + 3
√

6

= 12 + 6
√

6

9. − |3 + 30| = − |33| = −33

10. In interval form the answer is [−0.3,−0.1) and on a real line the answer is:

� -
-0.5 -0.4 -0.3 -0.2 -0.1 0.0 0.1 0.2 0.3 0.4 0.5

w g

11. In inequality form the answer is x > −1.8 and on a real line the answer is:

� -
-5 -4 -3 -2 -1 0 1 2 3 4 5

g-1.8

-

12.

2x− 4 > x− 5
2x− 4 + 4 > x− 5 + 4

2x > x− 1
2x− x > x− x− 1

x > −1

In interval format the answer is (−1,∞) , and on a real line the answer is:

� -
-5 -4 -3 -2 -1 0 1 2 3 4 5

g

-

2


